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COMMERCE

(Honours Generic )

Answer the Questions from any one Option.

OPTION-A
( Macroeconomics )

Paper : COM-HG-2016
OPTION-B
(Insurance and Risk Management )'

Paper : COM-HG-2026

Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks. for the questions.

Answer either in English or in Assamese.
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S it o ) e i

(a) _:What Is comparative static ec;onomic

(¢) What is meap‘; by aggregate supply ?

- (d) Name the autﬁor

.
. . .
P R
N

~ OPTION-A
. (-chi?oecor,iohzics )
Paper : COM-HG-2016

Answer the following questions as directed :

1x10=10

analysis ?

| T R oo R o

b) 'D'eﬁne .éffect'i\}e .démand.

! 7’°f the 'book, Tﬂe-

4 (Sem:Z/CBCS) HG1/2 MAE/RM)/G 3

(e) _Whé.t is the shape of long-run aggregate

" Supply curve? - . - .. N .
TLRTIA S oH (UR SIS GFergt
Hz o -

’(f-) What does a vertical IS cpfve mean ?

auiet Tory 1S @R R e v
(g) State the condition of *_equili_briurri in K
the goods market. = |
(h) What is the miost common method of
. measuring inflation?. .

TP o bR s w2

) "The value of mdney .an'd the price level

- are related inversely/ diréctl.y; '
o ' (Choose the correct answer)’
=T (o7 Teveh R Bear)
() What is meant by marginal propensity
~ to consume ? ' L

m@ﬂm{fﬁmﬁsw?

Contd. R



: nswer the followmg questions: 2x5=10

| WWWE@WW

(a) Wh a '
) v does the aggregate demand curVC.

slope dovvnwardo
L i wfim GICIs ﬁw ﬁm@ i
. (b) State two |
| 11m1tat1ons
. mode] of the IS- LM

IS-LM W@WWWWI ‘

A . C
‘( ) What is soc1a.1 cost of 1nﬂat10n ?

WWW%%?

_(d) Distinguish between ﬁxed exchan
' (]
and flexible exchange rate. ® e

ﬁaﬁﬁwmmwﬁwﬁﬁwww' N

el CW?.LWI

e

an
o d autonomous 1nvestment

4 (Sem-2/CBCS) HG 1 /2 (MAE/IRM)/G 4

. | - Answer any four of the followmg questions :

5><4 20
et W ﬁ@'lﬁf P R A AT E
“ (@) Explain ‘the nat10na1 income 1dent1ty ‘
using circular ﬂow of income in a three-
. sector economy.

%ﬁm%ﬂ@q@ﬁews@ﬁzmw
<R 2GR S T RO

é

(b) How is the LM curve affected by the
change in the supply of money'-)
Explaln with a diagram.

@R e ARRET AR LM @I ﬁsm
31 "31 SIEUI fﬁt‘ﬁ QTS ?UPUT Wl -

(c) ~What is marginal efﬁc1ency of capital ?
" State the determmants of ma.rglnal

efficiency of capltal
e A ifrrel & 2 SF\'W e
Frfrror FefeeTR T S
(d) Explain the trade- off between inflation
and. unemployment
%E’“«%H%W iﬁa@aw o{ﬁwv[ﬁasmq}pm
SRl

4(3em_-2/é3cs1 HG1/2 MAE/IRMIG S - * Contd.



(e) z:;plam the cost-push theory of R W R W 3R TS o S
: at1 .
% on- , 1 Wﬂamﬁ‘ﬁﬁiﬂ,ISLM@W
o W ‘la'“f“" Wﬁlmaﬁn { WWW|
0. Brleﬂ 5 '
- .of ﬂeigiplam the au'glll'nents in favour (b))’ Explam the nature of demand pull
‘Wﬁ“{l RE :;Change rate system. o 1nﬂat10n What measures would you
W'WI " W HWWWW R suggest to control such 1nﬂatlon?
Y S E S . 5+5=10
4, AnSWer th .. E , : .
o e ¢ fOHOng questmns: 10x4=40 .| . sﬁvﬂﬁﬁ@ Sj;ii“?li 3 ‘dsz: amm TN @
T e W%ﬁm o , ‘:{mﬁﬁﬁﬂmmgﬁﬁwwmm?
eqzlii;ss ‘the determlnatlon Cof | o - or/ W |
n rium rate of interest and level of | . , o 3
C:lme with - the help of IS- LM clirve. : - Discuss the -effects -of inflation on
. ySIs. . B o - production’ and distribution. © 5+5=10 .
IS ‘e , , . . P
. ﬁm;;:fwwmwm « . ,W%emmﬁm«eﬂa—w
' I 5 199 TSN 351 ) ,
o .IWWWI
.ll?;tscuss how income and ‘the 1ntere§t ' (c) Exp1a1n Mundell-Flemlng model with
rate ar o
By ¢ affected by an increase in flexible exchange rates.
ment spending and an increase o
1n taxes, usmg the IS LM curve modele 4 B ﬂﬁﬂﬁmmmwa-@ﬁ\ﬁﬁﬂm
: | 5+5=10 | il |
4 (Sem~-2/CBCS) HG 1/2 (MAR/ IR/ T S AT : | o
. ./ )_-‘ [EMAEMRMG 6 , , '4 (Sem-2/CBCS) HG /2 MAE/IRM)/G 7 . "~ . Contd..




Or/wrar

Discuss the derivatioﬁ_of the IS curve

from the goods market in an open-

economy With_ suitable- diagram.

T® WIS 7 e 1S o @R

- I B e 2w

(@

_ the traditiona]
' money.

What is meant by investm‘enf function ?

Discuss the factors: which affect the -
2+8=10,'

. Rifcamt wom s R =7 » R T©

level of investment. .

SO AR Yot st <o |
' | or/ W
Explain Keynesjan ﬂleory @f demand

for mo Wri W i
ney. Write how it jg superior to

@iﬂ@wﬂﬁw@mwﬁmmww{

;;;TﬁmsimaﬂﬁmﬁvﬁﬁﬁfiGﬁﬁﬁﬁﬁm§@ ‘.

4 (Sem-2/CBCS} HG1/2 (MAE/IRM)/G. 8

Quantity theory of |
: 7+3=10 -

OPTION-B

(Insurance and Risk Manag'ement ) -

Paper : COM-HG-2026 L

Choose the most appropriate answer for the -

. following qgestibns.:- -
TS Al ST TS TR AT et ¢
(@)

1x10=10

Which of the followiﬁg' is not an

‘objective of loss control ?

R @R = Frger S T=e
1) Loss '.prevention. . ~
- weafemy .
() Loss reduction -
WMo g
o (ifi) Loss retention
o qe
(iv) None. of the above -
. 8T OIS T

(b)

Which of the foilowing is an example of

‘systematic risk ? :

O D! SR R T ¢

(i) Inflationary risk

4 (Sem-Z/CECS) HG1/2 (MAE/IRM))G 9O ~ Contd.



- @

(c)-

(i_i) . Interest rate. risk
.(_iii) queign exchange risk

(@) All of the - above

i) 2000 (3000 we)

- W) 2001 (3004 57)

4 (sem72/qacs1 HG i/2 (MAE/IRM)/g ™ 'io -

. (e)’.

Which of the following -entities - are
regulated by IRDAI? - '

R @waﬁ ﬁﬁ%‘ﬂfIRDAlﬁ’,l"&ﬁf ﬁw@@

-@). General insurance companies

g [ @A
(i) . ‘R‘e-ihsuranee cdmpanies

(iii) Insurance interthediaries

(iv) All of the above

| @oRE TR
Aécepfi:ig‘ two .or :mo,l.'e v‘insuvrance:' in
respect of the same subject matter and .
from the. same insurer is called
D Gl ~IR] ! R e
72 3 wreifEe T ot FRee o [ 3 o
= e T

' (i) re-insurance

.v B . b' |
(i) -double insurance .

o

4 (Sem-2/CBCS) HG 1/2 (MAE/IRM)/G 11 - Contd.



- (9)

TR S

.

" (iii) Co-insurance

‘ .
(iv) None of the above -

@W u‘lﬁf\fs T

The maln funct1on of actuary 1is

‘management of -risk and uncertalnly

The statement is -

ﬁmﬁl'ﬁ\@c‘m

: (i)‘ .T,rue (u%)

(ii) .Fa.lse (Wé\a)

‘L1fe insurance

contract is a contract
of in demmty

The statement is

( Y - “True (@ra—l)

. ‘ (ll) Fa.lse (W@Eﬁ)
) ., Ce€ is a contract of
ubernmae ﬁdel

‘W%NT tﬂm I
. (i)- Tme (@@)

“Fire lnSuran

" The statement is

TR 3% 1 et

( ll) False (WQQ%)

4 (e 2/cscs; HGl/2 (MAE/IRM)/G 12

,WW\W

] ;‘Hull insurance is .the main S];’lb"ll?l-f;
0 ‘matter of hfe 1nsurance contract
',statement is

| '(i) True (W)
(i) False (99)

lowin questlons :
lee br1ef answer to the fol 0, g T oort

(a) Explain the concept of risk.
eI R T |
“State any two dlfferences betwieen ﬁre .

(b) ‘insurance and marine ‘insuran

wﬁmmmmmwwzw
ﬂ@%@ww:

.( ) State two. Ob_]eCtIVCS of re-msurance
c

mﬁmml

(d) What is meant by insurable 1nterest’9.
Sy = I & gom ? |
(e) . Stafe two adVantages of insurg.ncq.

S 75! AR T =4

) A ' | . Contd.
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'~ (d) Explain the p

forlllzwg any four questions from the -
-, lotlowing 1n about 150 words each : '

. (a ° - 4
N ) Explain the concepts of systematic and

unsystematic rj -
examples., risk with suitable

. UE Tz weei m-wam :

WWWWW|
()  State the differe-..

(G) : Write .a' Short"
ombudsman.

(€)  Write a detaileq

AT 30B! TR = :

o)

i) -What are the conditions of i_:idcninity' '

under a contract of insurance ? Explain. -

oot Rl R TR |

Answer hny fout §f the following ql-iés'tions -

_ in about 600 words each:

@

_management process.

. 10x4=40
erpR Il BifIbT e ST o
What is meant by risk mana'gément?

Elaborately discuss the risk_
 2+8=10

(c)

(i) marine insurance. -

'Explain in detail ﬂig_e cssen:tial_.s:of avalid -
- insurance contract. .

2 1 R SR AT TR T

What are different types of insurance 2

‘Write a detailed note on (i) fire and .
| 4+(3+3)=10
GRw doe T B B @ o [, W
(i) GTIAE @9 <ot Ko ot Tl

4 (Sem-2/CBCS) HG 1/2 (MAE/IRM)/G 15 . Contd.




(d) " Discuss the regulatory ‘framework of =
* insurance sector in India. |

SiRese THNeT R e s 33 |

(e) ' Explain the ‘iznpact of globaliéatipn on”

~

Indian insurance sector.

| SRS Fet eoive IR @Ol |
[

- ) - Discuss.the sﬁeps-fcaken by‘IRD‘AI for

- protecting the interest of policy holders.

§ o 4 10

| b e T4 srfrs R IRDAIGE

o ORI MO SN ]| -
(9

What is meant by measurement of

risk ? Explain‘in detaj] about different

- methods used for measurement of risk.
e T ‘ o . 2+8=10
IR Aert e T 2w

IRGRR e B0 T S—

(W) Discuss the im

, . portance of insurance
In our day- ‘

to-day life.
! '”W@W% Y WA 7
. 4 {Bem-2/CBCS) HO 172 MAE Ryg 1. _. 10000




